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Past Exam Questions

Section 6.1 & 6.2
1. Find the degree measure of the supplement of the angle whose radian measure is 
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Answer: 
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2. Find the angular speed (in radians per second) of a wheel that is rotating at 100 revolutions per minute.

Answer: 
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3. Find the linear speed (in cm/second) of a point on the edge of a wheel of radius 3 cm that is turning at a speed of 50 revolutions per minute.

Answer: 
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4. (a)  Each tire on a car has a radius 
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 cm and rotates at 1500 revolutions per minute. Find the speed of the car in kilometers per hour
(b) Find the supplement of the angle 
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(c) Find the positive angle less than 
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that is coterminal to 
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(d) Find the length of the arc of a circle with radius 
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cm and central angle 
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(e) Convert 
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radians to degrees.
(f ) Convert 
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to radians. 

Answers: 
[image: image13.wmf](a) 108 km/h.,  (b) 1222333,   (c) 253, 

  (d)  cm.,   (e) 110,    (f ) 3 radians
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5. Find the exact value of 
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Answer: 
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6. Find the reference angle of 
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  Answer: 
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7. Find the exact value of 
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Answer: 
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8. Given that 
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Answer: 
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9. Find the exact value of  
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Answer: 
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10. Find the exact value of  
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Answer: 
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11. Find the exact value of  
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Answer: 
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12. Each tire of a car has a radius of 40 cm. If the tires are rotating at 500 revolutions per minute, then find the linear speed of the car in kilometers per hour.  (
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Answer: 
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13. Each wheel on a bicycle has a radius of 30 cm. If the wheels are rotating at 150 revolutions per minute, then find the linear speed of the bicycle in meters per second.

Answer: 
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With regards of Dr. Ali Al-Karkhy
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